
 

 

SEA -BIRD    ELECTRONICS,    INC. 
1808  136th  Place N.E.,  Bellevue,  Washington   98005   USA 
Telephone: (425) 643-9866   Telex: 292915 SBEI UR 
Fax: (425) 643-9954 email: seabird@seabird.com

   

 
SBE P/N 50140 
 
 
 

SEARAM Small Titanium Hard
 
O-Rings Contents 

SBE P/N Manufacturer P/N Prima
30072 Parker  2-017N674-70 For B
30080 Parker  2-204N674-70 For inst
30090 Parker  2-153N674-70 Batte
30815 Parker  2-233E603-70 For
30816 Parker  2-234E603-70 Fo

 
Hardware Contents 

SBE P/N Manufacturer P/N Prima
30145 Mach screw 6-32 x ½ PH SS Secu
30654 Mach screw 8-32 x ¾ FH TT Secure SE
30346 Bolt, 10-24 x 1” Hex TT Conne
30242 Washer, #6 flat Secu
30362 Nut, 6-32 nylon stop Secure Boardset
30447 Bolt, ¼-20 x 1-1/4, Hex TT Secure Battery

 
 

 Sea-B
PROCE
TITLE: 
REVISI
EFFECT
CHECK
DATE SYM REVISION RECORD AUTH DR CHK 
      
      
ware & O-Rings Kit 

ry SBE Application QTY 
ulkhead connectors 2 

alling Switch Assembly 1 
ry endcap Face Seal 1 
 Connector Endcap 1 
r Battery Endcap 1 

ry SBE Application QTY 
re Battery endplate 3 

ARAM Switch to housing 2 
ctor Endcap hardware 4 
re Battery endplate 3 

 to endcap through threaded rod 1 
 Endcap handle to CTD endcap 2 

ird Electronics Procedure 
DURE NUMBER: 67125 
SBE 17plus SEARAM Spare Ti Hardware Kit 

ON:  
IVE DATE: 06/17/2003 
ED BY:    PAGE 1 of 1


